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SN T
I 50l BEMHO CO(UNTDUE/YUHE)
Sl =0l OIES 9lE HIAMHIA (sl @a)
- _ _ NUE &
SH-HH . C(BH) - HRAY - B2 Ofl AF o4 il it o HRE
O=ZHM=lUs sdds & dRAZH 3,500,000& 3,500
OtUMsls sdds 2 RAFHI 3,500,000& 3,500
401 AIZBIL 2O 2,500 0 2,500
01 Al&H| 2,500 0 2,500
OEMHIIEY S& 2,500,000& 14 2,500
2L AU (E2H)(IIEH/IIEH 102,619 100,539 2,080
ol 2| 10,160 10, 160 0
el | 10,160 10, 160 0
203 R ETY| 10, 160 10, 160 0
01 JI22FHRF4I 6,600 6,600 0
ogE 6,600,000& 6,600
02 FEJIMREY] 560 560 0
O IMH I = 40,000 14 560
04 FN2IHRFAH 3,000 3,000 0
ORN2IHRFAHI 250,000& x12& 3,000
Jl2&Hl 92,459 90,379 2,080
JlZ2& 4l 92,459 90,379 2,080
201 LetHH| 50,959 49,779 1,180
01 AtER22/Hl 29,744 30,334 A590
ORAE 1,150,000 * 132 14,950
oY . ==Y 10,0002 *1. 32 x2482 +50, 0002 * 1,384 +1502 12,974
o=l 1,820
—E201 &l 7,000& #1320 1,820
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SN - HB . S9(3]H) - Abol e =2

02 s394l 21,215 19,445 1,770
ORERZ 100,000& x12& 1,200
OJIEt=s3e3 6,346
A= 6,216
= A 410,000 x12& 4,920
SX 4,000 *20 A x12& 96
sTHE2sE 100,000& x12& 1,200
—SZHNHREEZ 130
INE=E 40,000& 23| 80
Xhef 25,000& *1CH*23] 50
OdZHl 6,849
— AL 4! 1,300 %1.7 £ »8Al 2t*3CH*100L 5,304
— =8 A 1,300& *4.95 4 *8A| 2t+30L 1,545
OXtR X 22| 4,150
— A2 (ER) 3,450,000 = 1CH 3,450
—PE2 (Mg Y ASEREHI0]) 350, 000& *2CH 700
OXExAM(3tE) 30,000& = 1CH 30
O AL Xt 2,640
— A BF=Z AFD| (X-21201 &) 110,000& x2CH = 12 2,640

(0:0:] 37,700 40,600 A 2,900

=Wl 37,700 40,600 A2,900
O3 Lol 200,000& x13H »12& 31,200
O22 0l 50,000& 13«10 6,500

XHAESR S HI 3,800 0 3,800

AArY 2 2 F S| 3,800 0 3,800
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